APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	DAVE SCHALLER	-	Page 1 of	4					
Project: JUDGE I	DOYLE GARAGE								
Contract Number:	7952	Paym	ent Number:	22					
DO NOT WRIT	E IN THIS BOX - TO BE COMPLE	ETED BY CITY ENGINEERING P	ERSONNEL ONLY						
TOTAL FROM PAGE	4	30,046,0	687.08						
LESS RETAINAGE:		857,9	102.18						
SUBTOTAL:		29,188,7	29,188,784.90						
LESS PREVIOUS PA	YMENTS:	27,131	27,131,309.52 #						
CURRENT PAYMEN	r due:	\$ 2,057,4	75.38						
and that CO CONTRA INSPECTOR'S CERT The und by this a	IFICATE FOR PAYMENT: ersigned Inspector certifies that to the pplication for payment has been comp the contractor is entitled to payment to	Cory Huschka y.Huschka@jpcullen.com, CN=Cory 15:52:44-05'00' VC. be best of his/her knowledge, the pleted in accordance with the	08/09/2019 DATE ne work covered	ts,					
PLEASE PROVIDE THE Edgerton, Staff,	CONTRACTOR/SUBCONTRACTORS Monona (Fire/Plumbing) Hallmark, Schmelzer raun Elev	1	OM: 7/1/20 O: 7/31/20 DURING THIS PER	19 19 10D:					
NOTE: SIGNED	DAVAGNIT DECLIECT CLIALL DE CLICA	TTTTD TO THE ENGINEER (INC.							

NOTE:

SIGNED PAYMENT REQUEST SHALL BE SUBMITTED TO THE ENGINEER/INSPECTOR. PARTIAL PAYMENTS CAN BE PROCESSED EVERY TWO WEEKS.

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

J. P. CULLEN & SONS, INC. JUDGE DOYLE GARAGE CONTRACT NO. 7952 PAYMENT NO. 22

PAYMEN	NT NO. 22	1	2	3	4	5	6	7	8	9	******* #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
ACCOUN	NT NO. 11471-82-140	_							!				'
90001	Base Bid	1.00	Lump Sum	\$29,573,208.00	\$29,573,208.00		0.03	\$912,618.99	0.86	\$25,437,714.90	0.89	\$26,350,333.89	89.1%
90002	ALTERNATE NO. 1: Add crystalline concrete add mixture to the concrete mix for the structural decks.	1.00	Lump Sum	\$395,645.00	\$395,645.00		0.00	\$0.00	1.00	\$395,645.00	1.00	\$395,645.00	100.0%
CONTRA	ACT TOTALS				\$29,968,853.00		•	\$912,618.99	-	\$25,833,359.90	-	\$26,745,978.89	- 89.2%
CHANGE	E ORDER #1, ACC'T NO. 11471-82-140												
	- COR-2 Removal of Unforeseen Foundation (JPC RQ#003)	590.00	C.Y.	\$45.04		\$26,572.80	0.00	\$0.00	590.00	\$26,572.80	590.00	\$26,572.80	100.0%
	- COR-03 Soil Nail Wall Lean Fill (JPC RQ#005) required due to unsuitable soils	342.00	C.Y.	\$358.30		\$122,537.00	0.00	\$0.00	342.00	\$122,537.00	342.00	\$122,537.00	100.0%
	CHANGE ORDER #1 TOTAL					\$149,109.80	•	\$0.00	_	\$149,109.80	_	\$149,109.80	_
CHANGE	E ORDER #2 - NO COST CHANGE												
CHANGE	E ORDER #3, ACC'T NO. 11471-82-140												
	- COR-05 CB001 Architectural changes include curbs under CMU walls, concrete foundation changes under limestone	1.00	Lump Sum	\$29,628.00		\$29,628.00	0.27	\$8,000.00	0.25	\$7,500.00	0.52	\$15,500.00	52.3%
	- COR-06 Due to Field conditions storm pipe revisions were required	1.00	Lump Sum	\$34,471.00		\$34,471.00	0.00	\$0.00	1.00	\$34,471.00	1.00	\$34,471.00	100.0%
	CHANGE ORDER #3 TOTAL					\$64,099.00		\$8,000.00		\$41,971.00		\$49,971.00	
CHANGE	E ORDER #4, ACC'T NO. 11471-82-140												
	- COR-07 Add trench drains, add limestone and granite, add area well length, CMU changes, add SS @ transaction window, add tree grate, add structural steel, add/modify door openings, add/modify drywall and framing, add/modify glazing and curtain wall, plumbing changes, and electrical changes	1.00	Lump Sum	\$280,683.27		\$280,683.27	0.36	\$100,000.00	0.21	\$60,000.00	0.57	\$160,000.00	57.0%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

J. P. CULLEN & SONS, INC. JUDGE DOYLE GARAGE CONTRACT NO. 7952 PAYMENT NO. 22

	ACT NO. 7952 NT NO. 22					ı	İ		1		*****		ı
PATIVICI	N1 NO. 22	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
CHANG	E ORDER #5, ACC'T NO. 11471-82-140					•					•		•
	- COR-8 Add areawell platforms and railings, change guard rail to galvanized, add areawell openings and doors, add knoxbox, modify opening sizes. Add drain gates and 3" pipe through shotcrete wall. Add drywall ceilings, add coat closet, and temporary wall. Add DT cleanouts, DT bleeders, and additional drain tile. Modify electrical motors, add exit light, move heat trace, and add fire alarm pull station. Add drain grate connectors	1.00	Lump Sum	\$125,150.81		\$125,150.81	0.32	\$40,150.81	0.68	\$85,000.00	1.00	\$125,150.81	100.0%
CHANG	E ORDER #6, ACC'T NO. 11471-82-140												
	- COR-09 Add underground pipe, add floor cleanouts, add deck sleeves for vent pipes, add above grade pipe	1.00	Lump Sum	\$37,573.48		\$37,573.48	0.00	\$0.00	1.00	\$37,573.48	1.00	\$37,573.48	100.0%
CHANG	E ORDER #7, ACC'T NO. 11471-82-140												
	- COR-10 Add handrail at U4 lower stair, U4 Stair 2, U4 Stair 1. Add wall stair foundation at D.5 wall. Add electrical vault curbs. Add electrical vault sump. Modify electrical vault access ladder. Add B67 beam. Add slab steps. Modify refinforcing at crane openings. Added signage. Add floor clean outs, and floor drain, and relief vents	1.00	Lump Sum	\$24,020.67		\$24,020.67	0.17	\$4,020.67	0.83	\$20,000.00	1.00	\$24,020.67	100.0%
CHANG	E ORDER #8, ACC'T NO. 11471-82-140 - COR-11 Modify elevator interior panels to accomodate hinged face display shield for monitor	1.00	Lump Sum	\$10,417.49		\$10,417.49	0.48	\$5,000.00	0.00	\$0.00	0.48	\$5,000.00	48.0%
CHANG	E ORDER #9, ACC'T NO. 13115-82-140												
	- COR-13 CB-06 Podium structure and elimination of the exterior skin and	1.00	Lump Sum	\$3,469,279.70		\$3,469,279.70	0.26	\$912,128.43	0.52	\$1,816,093.44	0.79	\$2,728,221.87	78.6%
	finishes of the Podium - COR-12 CB-07 revisions to CB-06 CHANGE ORDER #9 TOTAL	1.00	Lump Sum	-\$53,895.92		(\$53,895.92) \$3,415,383.78	0.00	\$0.00 \$912,128.43	1.00	(\$53,895.92) \$1,762,197.52		(\$53,895.92) \$2,674,325.95	100.0%
CHANC	E ODDED #40 ACC'T NO 42445 92 440												
SHANG	E ORDER #10, ACC'T NO. 13115-82-140 11471-82-140												
	- COR-15 CB-09 PCO-015 Structural revisions added beams and curbs	1.00	Lump Sum	\$34,427.33		\$34,427.33	1.00	\$34,427.33	0.00	\$0.00	1.00	\$34,427.33	100.0%
	- COR-17 RQ#058 MGE requested cable tray, additional wire required	1.00	Lump Sum	\$22,174.00		\$22,174.00	0.00	\$0.00	0.00	\$0.00		\$0.00	0.0%
	- COR-18 RFI#134 Revised building and site storm	1.00	Lump Sum	\$6,129.15		\$6,129.15	1.00	\$6,129.15	0.00	\$0.00	1.00	\$6,129.15	100.0%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

J. P. CULLEN & SONS, INC. JUDGE DOYLE GARAGE CONTRACT NO. 7952 PAYMENT NO. 22

PAYME	IT NO. 22	1	2	3	4	5	6	7	8	9	******* #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
	- COR-19 CB-10 PCO-019 Remove level U2 parking equipment, change railing from stainless to galvanized. Add CMU above windows at elevator lobbies. Add burnished CMU at L1 entry. Add thickened slabs at L3 & L4. Add ramp beams at L3. Credit CB-08 electrical work and add CB-10 electrical.	1.00	Lump Sum	\$50,261.96		\$50,261.96	0.20	\$10,000.00	0.00	\$0.00	0.20	\$10,000.00	19.9%
	SUBTOTAL					\$112,992.44		\$50,556.48	-	\$0.00	_	\$50,556.48	_
	13115-82-140 - COR-14 CB-08 PCO-014 Structural & MEPF updates to Podium state approved plans - COR-16 RFI#138 RQ#060 Elevator master call station upsizing SUBTOTAL	1.00 1.00	Lump Sum Lump Sum	\$109,258.31 \$18,545.00		\$109,258.31 \$18,545.00 \$127,803.31	0.23	\$25,000.00 \$0.00 \$25,000.00	0.00	\$0.00 \$0.00 \$0.00	0.00	\$25,000.00 \$0.00 \$25,000.00	22.9% 0.0%
	CHANGE ORDER #10 TOTAL					\$240,795.75		\$75,556.48	-	\$0.00		\$75,556.48	_
CHANG	E ORDER #11, ACC'T NO. 11471-82-140												
	- COR-1 Field pour storm manhole S7 instead of precast (RQ#004)	1.00	Lump Sum	\$5,174.48		\$5,174.48	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	- COR-20 PCO-021 RFI #185 Wayfinding Revisions	1.00	Lump Sum	-\$18,142.00		(\$18,142.00)	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	CHANGE ORDER #11 TOTAL					(\$12,967.52)		\$0.00		\$0.00		\$0.00	
CHANG	E ORDER #12, ACC'T NO. 11471-82-140												
	- COR-22 PCO-026 RFI #206 Fire rated Supply AirRefabricate 40"x60" duct to accomodate fire wrap	1.00	Lump Sum	\$1,802.44		\$1,802.44	0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
GRAND	TOTALS (CONTRACT TOTALS PLUS CHAN	NGE ORDERS)			\$34,304,921.97	i		\$2,057,475.38	•	\$27,989,211.70	= .	\$30,046,687.08	- 87.59%